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We assuredly know that a ship does not travel less than ten

Overview

AR 72 727 explained that X117 27 maintains that a w"2 17 is sufficient since we are
sure that a ship travels in water that is deeper than o°19v ", therefore he is taking the
water from a M5 0P 1nto a °"'1717 which 1s N1, Our MY0IN reconciles our XA with
a seemingly contradictory X na.

mMooIn anticipates a difficulty:
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And this which the X713 states in ¥7IR%Y7w 5% 299 that the X072 there is discussing

a boat which is traveling in a PP, which is less than 2’nov >; however here we say that >»3
that a 11°50 does not travel in less than omdv ™ —

mooin replies -
= 4593 JIN POV MDIT) /003 XN DANR NIVP N’ADA Y991 NN

There we are discussing a small boat, which can travel in a PP, however here we

are discussing large ships, which are heavily laden -
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And they sink deeply into the water, and these ships do not travel in water that
is less than orov " deep —

N190IN cautions:
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But nonetheless it is necessary to be careful that also the pail with which one
draws the water and it sinks into the water, this pail must be above 2150 '> from
the seabed, for if it is not so, but it sinks down to below o°rov " above the seabed,
how can he fill the pail; he is carrying from a n*o»73 to a >"7.

Summary
Small boats can travel "» mno2; however large ships only travel “»n 7%yn%. The pail

must not go " vunY.

Thinking it over

!'In our X3 text it reads 1113 (not »"»3).
2 A pp1is a swamp or shallow body of water. See the first 73wn on our Tnv.
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Is one permitted to carry from a n°2»73 to a °"71 via a Mo 0pn (i.e. from the water
(" un?) to the boat (°"7717) passing a Mwd opn [which is "n 7oynb])?3

3 See R"wIN.
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